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COD N P
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-3.2.14 -3.2.1.5
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4)

kinematic wave

Penman
Penman Ep f
FE.o £ Ep
Y . Ll(h_s )S/Sﬁ
- 3.2.1.6 N f2
Stz e
s, o, A f(h-Su)/ (S, ~S)
9 2 _ i \4
3
A fo(h - Sfo)/(sfz - Sfo)
Manning -3.2.1.6

g Kex(1/N)x(h Sg)53xi/2

g1 anixKoXaox(h Se)
Darcy h Se
g KwXaox(h _Sw)

3
f2
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— =REw/Sq h—d ( -3.2.1.3)
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( -3.2.1.8)

( -3.2.1.9

( -3.2.1.10)

( -3.2.1.11)

( -3.2.1.12)
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L=k, -S,"-A@," ( -3.21.13)
L,=L,/Q,, @, ( -3.2.1.14)
ds

A dt“" =S,-(1-e“")+C, -R-A-k,-S.,"-A-Q;," -L,/Q,-Qy,

( -3.2.1.15)
L,=k -S" - A-Q," ( -3.21.16)
le = Lsz /Qsz 'Qsl ( - 3.2.1.17)

ds, . . ]
A. dtszsw.(l—eK N-k,-S" AQ,"-L,/Q, - Qy +L,/Q;, Qs
( -3.2.1.18
Ly =ky 5" A-Qy" ( -3.2.1.19
dsg _KgsT m n
A'F:S‘J“'(l_e )—Ky Sy - A-Qy + L, /Qq - Qy ( -3.2.1.20)
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- 3.2.1.21)
LROI :CR 'QRo (

Cr=(Lg,+ L, +L,)/Qq -e®H My (1—e D W) (k1 + k2)

( -3.2.1.22)

1)
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ii1)

iv)

3)
a)

Do, pdivu =0 ( -3.21.23
Dt
%erdivu —KV2C ( -3.21.24)
C
D€ | cdivu =kve ( -3.2.1.25)
Dt
K c
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-3.2.1.24 -3.2.1.25 -3.2.1.26

divU =0 ( -3.2.1.26)

Xy flux form
U0 p) @ oC grdp . 1 op
== (u? )= (uv) - = (uw) + fov—g———j— ——.
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ot ax(uv) 6y(v) 6Z(VW) Y PLaV p oy ( -3.2.1.28)
o () e U
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ot ox oy 0z ( -3.2.1.29
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OX ox ) oy oy) oz 0z
ki k, ko x y z
oCl 0 0 0
W__&(UCI)_@(VCI)_é(WCI) ( -3.2.1.30)

+8(KX6C:I +£ K LC:I +6(K26C:I
oX ox ) ey\ Yoy ) oz 0z
Ke Ky K, x y z
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Knudsen
O-t

1000

o, =2, +(0,+0.1324){1 - A + B/(c, —0.1324)}

o, =—0.069+1.4708Cl —0.001570Cl > +0.0000398Cl°
s (T-3.98) T+2830
‘ 503.570 T+67.26

p:

+1

A =T(4.7867 —0.098185T +0.0010843T2)><10’3
B, =T(18.030—0.8164T +0.01667T2)><10’6
b)
3
5C+u6C+V8C+W5C=5(DhX6Cj+6 Dhy@ +8(Dvacj+sc ( '32131)
ot oxX oy 0z X ox) oy oy) oz 0z
S
c g/m3
D, Dy m?/s
z=-h
oc (
@ - 3.2.1.32)
=R
Ry g/m?2/s
z=-h
o _p,a=Gu ( -3.2.1.33)
vaz z=-h \Y h
z=¢
V@=0 ( -3.2.1.34)
0z
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4)

8
-3.2.1.9
-3.2.1.2
a =) ug —chla/l
Phytoplankton Chlorophyll-a
Zooplankton Zooplankton Carbon Z mgC /¢
Ammonia Nitrogen

L N Nitrite Nitrogen Cn mgN /¢
IN —Inorganic Nitrogen Nitrate Nitrogen
ON —Organic Nitrogen Organic Nitrogen Con mgN /£
|P —Inorganic Phosphorus | Orthophosphate Cie mgP/ ¢
OP —Organic Phosphorus Organic Phosphorus Cor mgP/ ¢
COD Chemical Oxygen Demand Ceon mgo, /¢

DO Dissolved Oxygen Coo mgO, /¢
COD
COD
COD
TON Total Organic Nitrogen
TON
TN Total Nitrogen TOP Total
Organic Phosphorus
TOP

TP Total Phosphorus

COD TCOD—Total Chemical Oxygen Demand

COD

153

COD



(b)

()

Sw=(

)+( )

(d)
Son = (

(e)

-3.2.1.9

)+(
)+(

)+(
)+(
+(C )

154

)-(

)-(

)+(

)+(



S = (
)+(

®
Sor = (

(22COD

Scop = (

(h)DO
Spo =(

COD (
COD)

) (

) (

(7
1)

)+(
)+(

)+(

)+(

)+(

COD
COD) (

)

) (

155

COD)+(

hax(

)+

GIS

)+(

)+(

)+(



-3.2.1.3

50
S51 S62 HS3
H9
( )S56
( )S56
S51 H14
S51 H14
H9 3
3 50m
H9
H13
H15
HS
S48 S56
H13
H12
H13
H13
H13
H12
HS
HP
H11
H9
H14
H11
H11
H12
H14
H11
2)
DVD
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a)

1km

12 - 3.2.14
6
-3.2.14
3
-3.2.1.5

f0 | (cm/s) | 0.00100 | 0.00010 | 0.00050 | 0.00050 | 0.00010 | 0.00010
sf2 (m) 0.015 0.020 0.010 0.010 0.005 0.005
Sfl (m) 0.010 0.005 0.005 0.005 0.002 0.002
Sf0 (m) 0.005 0.002 0.002 0.002 0.001 0.001
N | sh 070 2.00 0.30 0.30 0.03 0.03
o ri - 1.0 1.0 1.0 1.0 1.0 1.0

h (m) 0.0 0.0 0.0 0.0 0.0 0.0

-3.2.1.6
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) ) )
Kz | (cm/s) 1.00E-03 1.00E-04 1.00E-05
Kx | (cms) 1.00 0.10 0.01 10°
D (m) 1.00 1.00 1.00 AB
0s ; 0.60 0.60 0.60
6w ; 030 0.30 0.30
b ; 15.00 15.00 15.00
h ; 0.30 0.30 0.30
-3.2.1.7
) ) )
Au (m“f',_/;day' 0.100 0.050 0.025
Ag | (/day) 0.010 0.003 0.001
sg | (m 0.70 0.50 0.30
h (m) 0.70 0.50 0.30
Kp 1/10
Ky 10
Ko 1/20
1/2
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-3.2.1.8

COD | BOD | T-N T-P | COD | BOD | T-N T-P | COD | BOD | T-N T-P | COD | BOD| T-N T-P | COD | BOD | T-N T-P | COD | BOD | T-N T-P
m 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
K 0.010 [ 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 [ 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 |T-P COD,T-N 1/5
n 2 2 2 2 2 2 2 2 2 2 2 2] 2 2 2 2 2 2 2 2 2 2 2 2
Su (g) 500 500 250 60| 3000 | 3000 | 1250 400 240 240| 5000 150 500 500 250 60| 3000 | 3000 | 1250 550 500 500 250 60
Ks (1/day) 0.20| 0.20{ 0.20| 0.20f 020/ 0.20[ 0.20[ 020 0.20] 0.20{ 0.20| 0.20f 0.20| 0.20[ 0.20{ 0.20] 0.20] 0.20{ 0.20] 0.20] 0.20| 0.20| 0.20] 0.20|T-P COD T-N 1.5
0 TO ) 0 0| 0| 0] 0] 0| 0 0 0| 0] 0] 0] 0| 0 0 0] 0] 0] 0| 0| 0 0| 0| 0]
COD | BOD | T-N T-P | COD | BOD | T-N T-P | COD | BOD | T-N T-P | COD | BOD| T-N T-P | COD | BOD | T-N T-P | COD | BOD | T-N T-P
m 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
K 0.010 [ 0.010 | 0.010 | 0.002 | 0.020 | 0.020 | 0.020 | 0.004 | 0.010 | 0.010 | 0.010 | 0.002 [ 0.010 | 0.010 [ 0.010 | 0.002 | 0.020 | 0.020 | 0.020 | 0.004 [ 0.010 | 0.010 | 0.010 | 0.002 |T-P COD,T-N 1/5
n 2 2 2 2| 2 2 2] 2| 2 2 2 2 2 2] 2 2| 2 2 2 2 2 2 2 2|
Su (2) 500 500 250 60| 3000 | 3000 | 1250 400 240 240 5000 150[ 500 500 250 60| 3000 | 3000 | 1250 550 500 500 250 60
Ks (1/day) 0.2| 0.20] 0.2 0.2 020/ 0.20[ 020/ 020/ 0.20{ 0.20[ 020{ 0.20] 020 0.20[ 0.20{ 020] 0.20[ 020/ 020 0.20[ 020 0.20{ 0.20{ 0.20|T-P COD T-N 15
0 TO () 0 0 0 0] 0 0 0] 0 0 0 0 0 0 0] 0 0] 0 0 0 0 0 0 0 0|
COD | BOD| T-N | T-P
CR | (mgl) | 1.50| 1.50| 0.80| 0.04
(50km2 A)
(5km2 A 50km?2) (A 5km?2)
(L) L A5 (B) B cAs
c ; 6.0 7.0 8.0
s ; 0.5 0.5 0.5
n @™ s 0.040 0.035 0.030
h (m) 0.2 02 02
a | (1/day) 0.0 0.0 0.0

-3.2.1.11

COD

BOD

T-P

k1

(1/day)

0.200

0.300

0.200

0.200

k3

(1/day)

0.100

0.200

0.100

0.100

xt

(1/day)

0.001

0.001

0.001

0.001

CA

(mg/1)

1.000

1.000

1.000

0.100
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b)

-3.2.1.12
-3.2.1.13 -3.2.1.14 -3.2.1.15 -3.2.1.10
I-N 100.4
mg/m?2/day I-N I-P
-3.2.1.12
IN/TN IP/TP
IN 1P : IN.IP
, IN,IP
COD Chl-a
Chl-a coD Chl-a
DO DO (mg /1)
= (10.291 — 0.2809 T + 0.006009 T2 — 0.000063 T )x 32/27 .4
5mm
IN IP
( )
(
0.1 mg/I )
( )
2000 1112
(IN 1P)
DO IN
-3.2.1.13
t 50
S 500x 500 m 95 x 90
5m 5m
2 10m
3 15m
4 30m
2.6x 10°°
5.0x 10 cm /sec
2.0 cm /sec
5.0x 10 cm /sec
0.5 cm /sec
f 8.40x 10 rad /sec
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-3.2.1.14

[Ts I I 20[2) 20 15
Ag 0.026]2) 0.026
A h 0.268]2) 0.268
Is MJ/10min 0.176{1), 2) 0.176
Kin mgN/| 0.042]2) 0.042
K ip mgN/I 0.003]2) 0.003
U _pmax 1/day 0.25]1) 1.0(20 )2) 1.03) 045 2.53
Rp 20 1/day 0.08]1) 0.04(20 ) 2) 0.08
0 p 1.05[2) 1.08
wp cm/day 0.28]1) 0140 135
o pi 0.5]2) 0.5
Y pz plankton plankton 40.5[1) 50.0 2) 40.5
oz 0.4]1) 0.72) 04 0.85
Rz 0.02]2) 0.02
0z 1.05[2) 1.045
Dz 0.1]1) 0.21(20 )2) 0.1
Cgmax |20 I/mgC*day 0.72]1) 0.76(20 ) 2) 0.72
0 pg 1.05[2) 1.066
K pg Michaelis 0.012]2) 12
azi 0.5]2) 0.5
Inorganic Nitrogen)
y pn 5[1) 0.558 2) 9.6
K n 1/day 0.082]1) 0.08(20 ,DOM 2) 0.082
6 on 1.05{2) 1.08
Yy zn 0.21{2) 0.21
0 in 1.05|2) 1.05
Win gN/m2/day 1) 0.00064 2) 0.025)0 0.35
won m/day 0.90]1) 0.432(POM 2)0.35)1.035
Inorganic Phosphorusn)
Y pp 0.075]1) 0.038 2) 1.0
K p 20 1/day 0.062]1) 0.08(20 ,DOM 2) 0.062
6 op 1.05[2) 1.05
y zp 0.016]2) 0.016
0 ip 1.05[2) 1.05
Wip gP/m2/day 1) 0.033(D0O=0.0 ,5) 0 _0.005
wip m/day 0]1) 0.432(POM 2)035)12
w 0p m/day 0.90]1) 0.432(POM 2)035)1.2
(Chemical Oxygen Demand)
Y pc COoD 250[1) 13 2) 446
y zC COD 11)2)1.1
K C 1/day 0.07]1) 0.4(20 ) 2)0.235)0.1
6 c 1.05[2) 1.05
0 cod 1.05[2) 1.05
Wcod COoD mg/m2/day 0.2]5 0 0.25
w cod COD m/day 0.2]1) 0.432(POM 2)0.34)024 2325)0.32
(Dissolved Oxygen)
Yy _op plankton DO 152.0|2) 152
y 20 DO 1.83[2) 3.65
SOD g02/m2/day 1) 1.0(20 )2)0.3
6 sod 1.05[2) 1.05
K_0S 1/day 1.0{2) 0.6
0 os 1.05{2) 1.05
1) 3 46 (1999)
2) 14 H15.3
3) H11 P599 6-3.15
4) H11 P666 6-7.1
5) H9.3
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*%

-3.2.1.15 DO 6)
I-N I-P DO
mg/m2/day mg/m2/day mg/m?/day

*k -72.5 -7.0 967.8

wk -24.5 -3.5 1143.9

*k -120.0 -10.0 1143.9

*k 15.0 -9.0 2129.0

294.7 27.0 3643.7
294.7 27.0 2129.0
294.7 27.0 2129.0
99.7 8.8 956.4
407.3 39.4 3643.7
294.7 27.0 4410.0
182.0 14.6 5176.2
294.7 27.0 4410.0
20.0 11.1 956.4
14.0 7.8 669.5
10.0 5.6 478.2

¥

E

=)
5 o o

831

453

500mx 500m
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3)

a)
2001
b)
3.2.1.13 - 3.2.1.14
- 3.2.1.16
c)
- 3.2.1.15 - 3.2.1.18
-3.2.1.12 5 (COD TN TP DO
Chl-a) - 3.2.1.19 - 3.2.1.23
TN
( ) Chl-a

COD T-P

163






M T/2TL00z M T/2L/100e /211002
/11002 1 Trmooe T/TTT00E
e
J 1 Tiot/ooe } T/0T/100C T/0T/T00Z
T/6/1002 B T/6/T002 /6/T002
1/8/1002 1/8/1002 1/8/1002
4 T/LImooT T/L[To0z * T/LTO0Z
=5 1900 /971002 /91002
T/S/T00C T/5/100e T/S/T00Z
§
! ooz T/vitooz 711002
£ 1rerooe g7 T/enooe /61002
B tremooe /211002 /211002
— — A
, , , /1100 : : : o Hmmooe 11100z
(=] [=] (=] [=] [=] (=} [=] (=] o (=3 (=3 (=] (=] (=]
(=] [=3 (=] (=] (=3 (=] (=3 (=3 [=3 (=] (=] (=]
-l & &8 &8 g 8 & 8 -l & & g g = g 8 8 8
(s/w) (/) (srew)
— T/2T/T002 ] H T/2T/T002 T/2T/T00C
T/TT/T00Z T/11/1002 1 T/TT/T00Z
T0T/T002 { T/OT/T002 T/0T/1002
} A L
m /671002 /61002 /61002
] 4
/811002
1/8/1002 T/8/1002
/L1002 |
T/LIT00C T/L/T00Z
/971002 ]
/91002 T/9/100e
o | tarooe 4 T/5/1002
1/5/1002 4
T/IT00Z
/711002
T/vIT00Z
T/EM00Z
T/E00Z
T/€/1002
& tremooe
1 trermooz
T/2Itooz
= . . . /171002
© T/T/T002
T/T/1002 m m M m m m M m °
s s S S 3 3 o |8 5 3 3 8 5] S
g g g 8 & a (1)
(s/,w)
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o 8 g g g g g 8 8
§
T/2T/1002 M
T/21/1002
T/11/1002 : le- - m w‘m I B
” — T/TT/1002
:
T/0T/T00Z [
L T/0T/T00C
W —
T/6/1002 i
I Q% T/6/1002
;
li !
1/8/1002 -
* 7 T/8/1002
T/LIT002 7 M
[ T/L/T002
T/9/1002 E ="
! — T/9/T002
i
/51002 7 }
[ > T/S/T002
T/v/1002 W
V LM\ T/vIT002
|
T/€/1002 i
L F T/€/T002
T/2/1002 V AM
[ g T/2/t002
[ =
T/1/1002 W e
s o 2 o
= 7" 8 ¢ € 8 8 8 8 8 g w© ©°
(1)
/2T/100z 1 1/etmooe
T/TT/T00Z T/TL/T00E
ﬁx@%«% 1 ToTo0z — 1 otr00z
—
B - —
l\lv\\“mj&%\?%m 1 T/6/1002 - g 1 T/6/100C
> —
- #" 1smooe 1 ooz
%W‘ /L1002 t 1 tLmooz
=5 ==
B \% 1 /97002 2 1 ooz
==
- T/57002 1 1/smooz
/711002 T/v/T00Z
L Py
e TIEMO0Z L - T/E/1002
4 T/2/mooz i 1 T/mooz
: : — T/TT00Z , — . , L T/T/T00Z
g8 8 8 8§ 8 8 8 8 8§ ° g8 8 8 R 8 8 8 8 ] 8 ©°
(srw) (s7,)
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€1/2/2002

£1/2/2002 £1/2/2002 £1/2/2002
S2/2T/1002 S2/2T/100Z S2/2T/T002 7 Seertooe
"
1 511002 W S/TT/T00Z STTT00Z S/TTT00Z
1 9T/6/T002 == 9T/6/T00Z 9T/6/1002 1 9u/ermooz
g
821/1002 13 82/1/1002 7 82/L/1002 - 82/L/1002
8/9/1002 8/9/1002 1 8/9/1002 1 8191002
= 6T/7/1002 6T/V/T00Z 7 6twT00e 1 61/m/T00Z
4 - 4 T
82/2/1002 821211002 Seferiooe 82/2/1002
] 1 611002
- 6/1/1002 6/T/100Z . | -
o
S ~8 o) 02/TT/0002 o)
3 o - 5 0¢/T1/0002 . - ” L - 0e/11/0002 9 g ] oo g E] w ° S L 1 - - ) ozrio00z
@ « N /6w 8 Q 8 9 El
(B (y6w) (Buw)
£1/2/2002 £1/2/2002 £1/2/2002 £1/2/2002
S2/2T/1002 Se/zT/To0e IN 1 serzrtooz S2/2T/T00Z
STTT00Z IIV/ 1 s1T00Z = 1 sutooz STTT00Z
9T/6/1002 9T/6/1002 = 9T/6/1002 9T/6/1002
82/2/1002 - 1 seLT00T s 82111002 "4 szizmooz
8/9/1002 -5 1 8/9/100Z W 1 8/9/tooe 8/9/1002
6T/7/100Z 1 6T/v/T00Z & 61/v/1002 6T/¥/T00Z
82/2/1002 W 82/2/1002 ..Mm 82fef1o0e 82/2/1002
a 6/T/T00Z . 6/T/T00C . 7 6/1/1002 6/T/T00Z
[} [} [a)
o s} 1o} 9
1 - ] 0zrTT/0002 L - 1 - J ozrrmioooz © W ® 1 g = o JrHOOOC o 02/TT/000Z
(vBw) (Bw) (Bus (vBw)

COD

-3.2.1.15
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€1/2/2002 £1/2/2002 £1/2/2002 £1/2/2002
S2ZTIT00Z M S2/2T/T00Z S2/ZT/T00Z S2/ZT/T00Z
M S/T1/1002 S/TT/T00Z . S/TT/1002 S/TT/1002
91/6/1002 9T/6/T00Z 9T/6/1002 1 9T/6/T002
W 82/4/1002 82/4/T00Z 82/L/1002 82/L/1002
M 8/9/1002 8/9/1002 8/9/1002 4 8/9/T00Z
m 6T/v/1002 - 1 6T/v/T00Z 1 61/P/T00C 1 6T/7/100C
- m 8e/e/tooe 82/2/1002 = 82/2/1002 1 szzrmooz
- t+— 6/1/100¢ 1 6/1/1002 :,\Im\v 4 6/1/1002 6/T/T00Z
— — Z
= =
0Z/11/0002
p = - > - . B - - 02/11/0002 5 . < . 5 ” 2 02/TT/0002 - J ozt1I0002
(1/6w) (1/6w) (1/6w) (/6w)
€1/2/2002 £1/2/2002 £1/2/2002 €T/2/2002
S2/ZT/T00Z S2/2TIT00Z - / 1 szrzmooz H szrertooz
« 4 s1TT00Z . 14 gTTT00E S/TT/T00Z 4 5/T1/1002
9T/6/T00Z 9T/6/T00Z ) 1 9T/6/T002 91/6/100Z
- 82/L/100Z - 82/L/T00T . - 8e/L/T00T 82/L/1002
1 8/9/1002 1 8/9/1002 M 8/9/1002 8/9/1002
6T/7/T00Z 6T/7/T00Z L = 6T/7/1002 61/7/1002
1 82121002 m - 82121002 W 1 82/2/100T 82/2/1002
6/T/1002 1 6/1/1002 - 6/1/1002 6/T/T002
=4 =z
—F -
- = - - 02/TT/0002 - - = - - 02/TT/0002 o - - = - o 0e/ttio00e 02/TT/0002
(1/Bw) (1/6w) (1/Bu) (1/Bw)

T-N

-3.2.1.16
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€T1/2/200C

£1/2/2002 £1/2/2002 €1/2/2002
S2/2T/T002 M S2/2T/T002 | 4 sereutooz | [ Se/et/tooe
= . ref
- = | —
~_| . ——
. M 4 S/TT/T00C . =F 4 S/TT/T00C S/TT/100Z = 1 S/TT/T002
9T/6/T002 9T/6/T002 1 —r - 1 91/6/1002 = 91/6/1002
— [W’{
7 =
) 1 82/L/1002 1 82/L/T002 . 82/4/1002 3 1 82/LIT00T
. M/{.
< 8/9/1002 8/9/1002 1 8/9/1002 - 8/9/1002
L] -
. L] . =i =
- A eTwmooz 1 6T/7/T00C = N 4 6T/v/T00C . 1 6T/7/T00C
_ =] ~]
— ﬂ'l/A
) 1 82/e/t00T 1 82/e/t00T 82/2/1002 = - 82/2/1002
6/1/100Z 6/1/100Z 6/1/1002 e 4 6/1/1002
o
— — 0o ~
[ g N
L 0e/11000z o 02110002 ) 0zTTI000Z Hl —— 02/11/0002
g 8 3 3 8 3 $ 3 3 3 8 &8 3 3 5 & 8 3 8 8 3 3 8 5 8 8 3 8 g
(1/Bw) (1/Bw) (1/Bw) (1/6w)
€1/2/2002 €1/2/2002 €1/2/2002 €1/2/2002
S2/ZT/100Z S2/2TIT00Z S2/TT00Z | | r/ SZ/2ZT/T00Z
.W 1 S/TT/T00C - 1 S/TT/T00Z « 4 gTTT00Z S/TT/T00Z
B . . B
\lW 1 9T/6/T002 . mv 1 91/6/1002 9T/6/T00Z 91/6/1002
z 82/L/1002 z 82/4/T00Z i - 82/L/T00Z “ sziumooz
<4 . .
By
. 1 s/9mooz . 1 81971002 8/9/1002 8/9/1002
6T/7/T00Z 6T/7/T00Z . 1 6T/v/T00Z o 6T/7/1002
1 82/e/To0e °| A seremooz 82/2/T00Z — 82/2/1002
- 1 6/1/T00e 1 e/tooe 1 6/1/1002 6/T/T00Z
o g =
—~F — a
e @ = = o o o Ourmoooe e m % @ w = o OC/THO00C e ————————— 0Z/TT/000Z -t ! ~— oz/r1/0002
b < < < < ° ° < ° ° < < =] =l B =] o o ° El El =] = B =] El = o E
(1/6w) (1/6w)

T-P

-3.2.1.17
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€1/2/200C

€1/2/2002

€1/2/2002 €1/2/2002
S2/ZTIT00T S2/2T/T002 —/ SeeTmooe) | — \ 52/2T/1002
S/TT/T00Z S/TT/T002 S/TT/T00Z =" | 111002
91/6/1002 9T/6/T00Z 9T/6/1002 91/6/T002
8¢/L/T00C 8¢/L/T00C 82/L/T00 hd 82/2/T002
8/9/T002 8/9/1002 8191002 8/9/100Z
— 6T/¥/T00C 6T/¥/T00C W 6T/7/T00C 6T/¥/100C
82/2/1002 82/2/1002 ‘u{/ 82/2/1002 — W 82/2/T002
= — =
w 6/T/T00C - 6/T/1002 a 6/T/T002 6/T/T00Z
o o] o =
) 2 2
B B o Oe/Ttio00z - < P - o 02/11/0002 - = " - 0Z/TT/000 o 02/TT/000Z
(Buw) (yBw) (yBw) ’ (yBui)
€1/2/2002 £1/2/2002 €1/2/2002 £1/2/2002
§¢/e1/1002 §2/2T/1002 — GZ/eTTo0z | | §2/2T/T002
. S/TT/T00Z S/TT/T00Z 1 S/TT/T00Z S/TT/T00Z
91/6/T00Z 9T/6/T00Z 91/6/1002 9T/6/T00Z
82/4/T00Z 82/4/1002 1 8e/L/to0z 82/L/T00Z
8/9/T00Z 8/9/1002 - 8/9/tooe 8/9/1002
6T/v/T00Z 6T/¥/T00Z \ 7 6wv/iooe o 6T/%/1002
W 4 82/2IT002 8¢/¢/T00C 1 8z/e/tooe — 82/2/T002
8 6/T/1002 8 6/1/1002 - 6/1/1002 - M 6171002
~ o 3] w w
53]
- = L 1 0z1/0002 s . s . S - 02/11/0002 @ P - - 0¢/TT/000¢ - - " 1 0z1/0002
(Bw) (Bw) (bu) ) wbw)

BOD

-3.2.1.18
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DOmg/I TP(mg/1) TN(mg/1) COD(mg/1)

Chl-a(mg/1)

13

20
15 r
10 r

0.30
0.25
0.20
0.15
0.10
0.05

0.00

Chl-a

0.112

8.175

0.023

0.118

9.193

0.049
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DOmg/| TP(mg/1) TN(mg/1) COD(mg/1)

Chl-a(mg/1)

20
15
10

0.30
0.25
0.20
0.15
0.10
0.05
0.00

13

+eo

Chl-a

8.542

0.018

10.159

0.052
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N
o

13

H
ol
T

COD(mg/1)
o

o o

[

TN(mg/1)

TP(mg/l)

0.30
=0.25
=0.20
}FO.lS
=0.10
00.05

0.00

A_€~]_leo

P

9 10

11 12

COD

DO

Chl-a

( ) 3.983 1.036

0.079

9.550

0.017

2.398 1.271

0.094

6.750

0.020

-3.2.1.21
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DOmg/!| TP(mg/) TN(mg/1) CoD(mg/)

Chl-a(mg/1)

20
15
10

3.0
25
2.0
15
1.0
0.5
0.0

0.30
0.25
0.20
0.15
0.10
0.05
0.00

13

11

12

174

L M X S
o 1 () Y ! ! o o
1 2 3 4 5 6 7 8 10 11 12
(mgh | _COD | TN TP DO | Chia
( ) 3.283 0.912 0.069 8.525 0.012
(1) 2.790 1.096 0.087 7.523 0.031
-3.2.1.22




DOmg/!I TP(mg/l) TN(mg/) COoD(mg/1)

Chl-a(mg/1)

20
15
10

3.0
25
2.0
15
1.0
0.5
0.0

05
04
03
0.2
01
0.0

0.30
0.25
0.20
0.15
0.10
0.05
0.00

13

5 6 7 8 9 10 11 12

5 6 7 8 9 10 11 12

T-P Chl-a

0.688 0.054 8.200 0.007

0.979 0.073 7.201 0.014
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(€)

1)
6
BOX
a) 7)
)
6 1
ot+at)=0()+ [ " gt)ot— [Ert)ot - [ Fs(tt ( -3.2.1.35
gt t mm/hr  Et@®)
mm/hr  Fs(t) mm/hr
-3.2.1.35
) gt
Horton
-3.2.1.36
Horton
f(t)=f, +(fm— . )exp(-axt) ( -3.2.1.36)
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) mm/hr  fumax mm/hr £, mm/hr
a t Horton hr
-3.2.1.36

flt+at)=f, +(f(t)-f,)exp(-axat) ( -3.2.1.37

H(8)=f(t)

t'(hr)

2
tmax

-3.2.1.24 g t

Ra e
\\ Ra= rr— Et rr

-,
o
=
T
i
i
i
i
I
i
|
1

o
i
|
s
i
i
|
]
i
1
i
1
i
1
i
|

0

-
e
.
o
=

-3.2.1.25 ¢’ te f

t1 6
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g(t,)=H(4,)=f(t,)

to’
6,=0,+| t min{Ra(t).g(t)dt = [ f(t) =6, + f (¢ )t

Ra =rr— Kt rr
fta) =g(ts)

f(tz'): f(t1'+tzl_tll): foo +(f (tll)_ foo )eXp(_a(tzl_tll))

=f, + (g(tl )_ f, )eXp(_ a(tzl_tll ))
t1 g(t1) to-ts At g(t2)

10t;
Ep=0.533% Dox ( JJ )a

a = 0.000000675dJ3 - 0.0000771J2 + 0.01792J + 0.49293
12t

J — (_J)1A514
2.

E, j mm/

t ]
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mm/ E,(t)= ETR(t)xE,(t)

2
ETR(t)= PET|1-
V) ( 1+ exp(—k x SN(t))]
PET k Ept) mm/
SW(t) SMmax =60 () SMmax

SW =0(t)/SMmax

-3.2.1.26
) Qs
Qs Qs
Q. =r, —g(t)-Et(t)- Fs(t) @s<0 @s=0
Qs mm/hr mm/hr g t
Et@) mm/hr  Fs(t)
mm/hr
) Fs
Fst)
gt) gs g(t)= g, Fslt)=0
2@ g gt)<g.  Fslt)=f,
gfs f;a
b)
)
i)
2
3
1 oh, o’h, o’h, g -0 ( -3.2.1.38)
Sl ot T x> Tl 6y2 de q; Q1 de



2 q, K, xD,xAx(h —h,) ( -3.2.1.39)

8h azh aZh )
3 83 a_; T,3X 8X23 sz ay; q1 - Qz ( 32140)
Tl 1 le Dl Sl 1
Ts 38 K3x D3 S 3
D1 1 hs
Do 2 q
Ds 3 q
K 1 Gop
Ko 2 A
Ks 3 Q 1
Q2 3
ii)
1
=1 (n=h JxATD ( -3.2.1.41)
Qsp m3/s  hs m Ay 1 o
]I’ m/S A m2 D m
)
i)
2
RE & ip & p L) Ofp L p Ny 1,
ot OX oy OX OX oy oy A% oy
( -3.2.1.42)
C “ v Rd Lin
Lsp
=qstC

Dxx= Dyy= Dyx= Dyy= D
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ii)

R, =1+mkd ( -3.2.1.43)

0
n ps 6 kd
c)
)
i)
x M9 um +QVM:—gHa—h—ﬁ ( -3.2.1.44)
ot OXx oy oX p
y a—N+iuN+QVN:—g oh_Ze ( -3.2.1.45)
ot ox oy o p
a_h+@+@:re ( '32146)
o0 ox oy
M N x y
M uh N vh u v x y
H A
Te
T xb T yb

Typor yp = gnz(uOr vNU? +V? /h‘/3 n

i)

oc. V)

- =(L,+L) - (L, +L)+L +L,+Lg ( -3.2.1.47)

~
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Li

Lq

- 3.2.1.27

ii)

C

o ekt

ii1)

gls

L:kXSmx(Q_QC)Qn
s=s,-[L

L gls

Lsp
Li : ALREEH AN & ATRETL
Lq : HiRERAANE BT
Lsp : H/KAR& HFAKET NV

Ci, j-1

Streeter-Phelps

mg/l CO t to
g/m3 X
md/s @

182

m3/s

b)

m3/s



g S k m n

d)
)
1 kinematic-wave
@+6—A=q ( -3.2.1.48)
oxXx ot
2/371/2
Q:AXR I ( -3.2.1.49)
n
Q A q R a d
)
1
OA C+u5A C:Li ( -3.2.1.50)
ot OX
v Axh m3 C mg/LL  u m/s
Li gls
Streeter-Phelps
C G ekt
C mg/l Cb t to C k
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e)
GIS

i)

+ X
ii)
X
ii1)
X
iv)
/ = +
CcoD kg/ — CcOoD + COD
COD
TN kg/ = TN v TN
T-N
T-P kg/ = TP * TP
T-P
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f)

3.2.1.29

H-V

185

- 3.2.1.17

COD



- 3.2.1.17

BOX

BOX

BOX7

COD COD
COD Inorg-N,Org-N
COD Inorg-P,Org-P
-3.2.1.30
A) B ©
JFESEEEEEEEEEEESR :IIIIIIIIIIII’
Y IS, \ A R .
1 v 1
: B :
! 1
1 1
1 1
! (POs+-P TIN) ( ) .
1 1
! J !
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 P 1
1 < 1
1 1
. > .
1 1
1 1
1 1
1 1
1 1
L d L 1
-3.2.1.30
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- 3.2.1.18

mgChl.a/L | M1
mgChl.a/L | M2
mgC/L D
mgN/L IN
mgN/L ON
mgN/L IP
mgN/L 0]
COD COD mgCOD/L | COD

o
Eh$=J|NC|N_JOUTC+_L

c : Cin:
Jin e

Jout

-3.2.1.18

d
dt i
\ )\ J o\ ) | J

187

DA.
_(V|C|): ‘JinCin - ‘JoutCi + ZI—AJ(CJ _Ci ) + Lin - Lout + R
J -

(

(

- 3.2.1.51)

-3.2.1.52)



LjH

Lout
Ri
I j
Ri
1) IN
BEn=y nm Ru—y nm Rty s RBeity v Reety Nz Rezt Ran
ii) IP
Rr=—y pm Ru—y pm Risty e Reity pm Reoty vz Rez +Rap
ii1) M1
Ry= (1—¢ 1) Ru— Ror— Rs1— Bs1 — Rz
iv) M2
Ry= (1—¢ 2) Rio— Roo— Rso— Rs2 — Rizwe
v) ON

Rov=y nm € 1 Ruty nm € 2 Rizg+y nm Rsity nm Rse+y no Riap— Ran— Rsx
vi) opP

Ror= yepm € 1 Ruty e € 2 Rio+y pm Rsi+y pv Rsz+y o Rip —Rap—Rsp
vii) COD COD

Recor= ycm € 1 Ruty cm € 2 Risty eom Rsity eom Rse+y op Rap — Ric— Rsc
viii) Z

Ry zm & Riz— Rer— Rsz
ix) P

Fo=yom K1+ K32 +yom 1-0 Rizt+y vz Rsz— Rap— Rsp

Rix [g/m3/day]
Fex [g/m3/day]
Rsx [g/m?/day]
X 1 2 Z D
Rix [g/m3/day]
Rsx [g/m3/day]
X 1 2 D N P
Fsx [g/m3/day] X N P C COD
€ X [ ] X 1 2
o)
V Xy [ ]
XY M a N P Z D
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(9
1)

GIS-DB

GIS

- 3.2.1.19
No.

1

2 100m 9

3 50m 9

4

5

6 CD 15

7 CD 13

8 CD 11 15
9 CD 11 15
10 11 15
11 7 CD 11 15
12 |H-Q 11 15
13 14 CD 11 15
14 2 11 15
15 10 14
16 CD 11 15
17 10 14
18 GIS

19 CD 16
20

21 11
22 11
23

24

25 14
26 14
27 GIS 14
28 GIS 14
29

30 14
31 GIS 14
32

33 55
38 CD 15 9
39 CD 15 9
40 4 12
41 4 16
42 8
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2)

DVD
a)
)
0.5km
)
1)
8 500m
25 100m
-3.2.1.20
100m
1 1
2
3 2
4
5 3
6 6
7
8 4
9 5
10 7
11
12 8
13
-3.2.1.21
i} COD 0.02 0.02 0.01 0.04 008] 0035 0.03
) T-N 0.01 0.01 0.005 0.02 004] 0015 0.01
T-P 0.0002]  0.0002] 0.0001 0.0004]  0.0008] 0.0003] 0.0003
o COD 0.6 0.6 05 0.7 08 0.7 0.7
) T-N 0.6 0.6 05 0.7 08 0.6 0.6
T-P 05 05 05 0.7 08 0.6 0.6
COD 1 1 1 1 1 1 1
n T-N 1 1 1 1 1 1 1
) T-P 1 1 1 1 1 1 1
S COD 2 2 05 25 5 2 2
i T-N 2 2 0.1 15 3 14 1
(g/m”)
T-P 0.01 0.01 0.005 0.025 0.05 0.02[ 0015
S COD 02 02 0.05 0.25 05 02 0.2
(@’ day) T-N 02 02 0.01 0.15 03 0.14 0.1
T-P 0.001 0.001] _ 0.0005 0.0025] 0005 0002 00015
w COD 0 0 0 0 0 0 0
; T-N 0 0 0 0 0 0 0
(m’/s) T-P 0 0 0 0 0 0 0
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3.2.1.22

3 0.4 0.8 0.1 0.1 0.4 0.4 0.02
3
-3.2.1.23
COD T-N T-P
1.538 0.826 0.0347
ii)
-3.2.1.24
SMmax| mm 350 350 450 30 20 70 50 20
SM18 0.4 0.4 0.4 0.5 0.5 0.4 0.4 0.4
a 0.8 0.8 1 0.1 0.1 0.5 0.3 0.3
£, mm/hr| 0.125 5 6 0.3 0.1 1 1 0.001
PET 0.9 0.9 1.1 0.8 0.8 0.9 0.8 1
k 0.13 | 0.15 | 0.15 0.15 0.15 0.15 0.15 1
iii)
0
-3.2.1.25
m/s m/s
1 1.0E-05 1.0E-02 0.3
1 ]2 1.0E-05 5.0E-03 0.3
3 1.0E-05 8.0E-03 0.3
4 1.0E-05 7.0E-05 0.3
5 1.0E-05 1.0E-02 0.3
1 1.0E-08
2 1.0E-08
3 1.0E-08
4 1.0E-08
5 1.0E-08
1 1.0E-05 0.01
2 |2 1.0E-05 0.01
3 1.0E-05 0.01
4 1.0E-05 0.01
5 1.0E-05 0.01
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iv)

8)

-3.2.1.26
1/ 1.2
1/ 1.8
g/m’ 0.014
g/m’ 0.008
o/m’ 0.14
g/m’ 0.14
MJ/m’/day 14.65
MJ/m’/day 14.65
degree 25
degree 15
2
2
m3/g 2
20 m’/gC/day 0.5
¢Chl.a/m’ 0.06
0.6
1/ 0.015
1/ 0.015
1/ 0.01
1.06
1.06
1/ 0.015
1/ 0.015
1/ 0.03
1.06
1.06
OP 1/ 0.008
ON 1/ 0.01
COD 1/ 0.005
1/ 0.1
OP 1.05
ON 1.05
COD 1.05
1.02
/ a mgP/mgChla 0.5756
/ mgN/mgChla 3.013
COD/ a mgCOD/mgChla 24.12
/ ( ) mgP/mgC 0.026
/ ( ) mgP/mgC 0.026
/ ( ) mgN/mgC 0.2
/ ( ) mgN/mgC 0.2
COD/ ( ) mgCOD/mgC 2.96
COD/ ( ) mgCOD/mgC 2.96
( ) a mgC/mgChla 50
( ) a mgC/mgChla 50
( )/ ( mgC/mgC 1
m’/day 8,540
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9),10)

- 3.2.1.27 (mg/m2/day)

BOX1 | BOX2 | BOX3 | BOX4 | BOX5 | BOX6 | BOX7
COD 41 87 30 47 84 84 28
T-N | 258 | 496 | 46.3 | 8.10 | 488 | 457 | 8.05
TP | 1.07 | 1.13 | 1.10 | 1.09 | 1.90 | 2.51 1.09

(a)

(b)BOX

- 3.2.1.28 (m/day)

BOX1 | BOX2 | BOX3 | BOX4 | BOX5 | BOX6 | BOX7

0 0 0 0 0 0 0

0 0 0 0 0 0 0

0.032| 0.036| 0.044| 0.018| 0.035| 0.050| 0.050

0.048| 0.054| 0.061| 0.032| 0.020| 0.040| 0.110

COD 0.037| 0.023| 0.041| 0.014| 0.025| 0.035| 0.020
0.032| 0.036| 0.031| 0.014| 0.020| 0.020| 0.020
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3)
a)
2001
2001

b)

c)

d) (

-3.2.1.31

)
BOX( - 3.2.1.29

-3.2.1.37

1
5
-3.2.1.31
-3.2.1.32
500m
-3.2.1.33 -3.2.1.35 T-N
- 3.2.1.36

0 REHNH
(R A NE

ko R AEENRG
(LA ENE
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m3/s

m3/s

50 —p—rw r . T .
1) S R A A L EA A |
30 — — - e bs calc 15 el el e e Al Al i Bl -
20 e EES.e. -
10 - - —L ——————————————— —
0 : I : :
V1 122 212 35 326 416 ST SR8 618 79 730 820 910 10/1 1022 1112 123 1224
100 —r—rw - Ty y
80 F-- S ) R ) E i
60 S i )
a0 F S AR R
20 F .
V1122 212 35 326 416 ST SR8 618 79 730 820 910 101 1022 1112 123 1224
IOOEF N LI v T v e T 1.,-..[..].'.[- | ’llu T -l|'1'1|-l "lr'rr' —y—
80 £ .
SPLIN USROS B 5 (0 U U M W L ] '
V1 122 212 35 326 416 57 528 618 79 730 820 910 101 1022 1112 123 1224
15051. Yy—— T Y — : ].,,..1,. y T ——
120 F .
90 1
60 L 1
30: 4
V1 122 212 35 326 416 57 528 618 79 730 820 910 101 1022 1112 123 1224
200 " - - . —r—
160 | - e — -1 - . E——
120 | 1
80 F 1
40 L 1
OLLL_L i S Bt i el SE S S
11 122 212 35 326 416 57 528 618 79 730 820 910 10/I 1022 1112 123 1224
2551- T LA LIRS N ) AANM IRARIL A i | T Ll” — T ——
2 F - s Sp_— e A
T J5 A (- Ep— B Yy
10 F :
st ]
38 N I R Y SR R e N |- ‘I""‘ Lo
1 122 212 35 326 416 57 528 618 79 730 820 910 10/l 1022 11/12 123 1224
150 v LA LA RS § | AN ARARIRIAS & | T T l ]lu'yl' r W AR —y—
120 F— e e e R _——
L e ———————Y————— e e
60 .
30 .
0 L*LLlL“LL‘lLl‘hL‘
V1 122 212 35 326 416 57 528 618 79 730 820 910 101 1022 1112 12/3 1224
- 3.2.1.32 (2001 )
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COD mg/L

COD mg/L
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(ha) (ha)
C-1 298 298
C-2 67 67
C-3 941 941
C-4 133 v 133
C-5 741 741
C-6 1,257 ¥ 1,257
c-7 282 282
T-1 22,206 539
1633
4,893
10,474
4,667
T-2 9,129 3936
1,687
3,506
T-3 3,000 3,000
T-4 12,000 12,000
Y-1 1,995 1,995
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1,586
2,150
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Y-4 300 300
Y-5 2119 2,119
Y-6 1,500 1,500
Y-7 651 651
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Y-9 345 345
67,563 67,563
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